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Subtraction word problems

Kindergarten Subtraction Worksheet

Answer the questions. Draw pictures if it helps!

- Noah has five fewer rocks than William. William has
seven rocks. How many rocks does Noah have?

> Two tomatoes are on the table. Then Oliver bumps into
the table, and two tomatoes fall off. How many tomatoes
are left on the table now?

3 Nine balls are in the basket. Three balls are taken out of
the basket. How many balls are in the basket now?
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Kindergarten Subtraction Worksheet

Answer the questions. Draw pictures if it helps!

- Noah has five fewer rocks than William. William has
seven rocks. How many rocks does Noah have?

2

> Two tomatoes are on the table. Then Oliver bumps into
the table, and two tomatoes fall off. How many tomatoes
are left on the table now?

0

3 Nine balls are in the basket. Three balls are taken out of
the basket. How many balls are in the basket now?

6
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